* Before running so many jobs for MUPAGE/data comparison for
ORCA4, want to determine how much statistics is needed to
perform a statistically significant comparison

* Current histograms:

(master*) » root beta 0.420.datapestfit.roet
Welcome to ROOT &.20/04 https://root.cern
{c) 1995-2020, The ROOT Team; ccncepticn: R. Brun, F. Rademakers
Built for linuxx8664gcc on Apr 01 2020, 08:28:48
From tags/w6-20-04@ve-20-04
Try ".help', ".democ"', '.license', ".credits'", ".quit"/'".qg'

oot [0]

ittaching file beta 0.420.datapostfit.recot as _filel...
[TFile *) 0Ox2bdab40

oot [1] .1ls

File** beta_0.420.datapcstfit.roct
TFile* beta_0.420.datapostfit.roct

KEY: THI1D Jeb; 1
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KEY: TH1D he;1
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KEY: TH1D hk0; 1

KEY: TH1D =l

KEY: THZ2D heo; 1

KEY: TH2D hzg;1

KEY: THZ2D hze; 1

KEY: TH2D hzb0;1
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* Why is the reconstructed energy shaped this way? - ORCA4
gometry?

energy ratio vs direction e 25%6a8TerT

Mean x 1.746
Mean y -0.7776
Std Dev x 0.7982
Std Devy 0.1549
Integral 2.491e+07
Skewness x 1.055
Skewness y
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* Why is the reconstructed energy shaped this way?

energy ratio vs direction ratio

Entries 2.598387e+07
Mean x 1.772
Meany 0.9305
Std Dev x 0.7562
Std Dev y 0.2326
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